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Quiz: Sum or Difference of Two Cubes

Question 1a of 15 ( 2 Factoring A Sum Or Difference of Two Cubes 90930 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

Choice| Feedback

1

True-False

2

The expression below is a sum of cubes.

125x3 + 169

Global Incorrect Feedback

The correct answer is: False.

Question ib of 15 ( 2 Factoring A Sum Or Difference of Two Cubes 297387 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

Choice| Feedback

1

True-False

2

The expression below is a sum of cubes.

125x3 + 144

Global Incorrect Feedback

The correct answer is: False.

Question 1c of 15 ( 2 Factoring A Sum Or Difference of Two Cubes 297419 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

Choice| Feedback

A. |True

*B.|False

1

True-False

2

The expression below is a sum of cubes.

216x3 + 169

Global Incorrect Feedback

The correct answer is: False.

Question 2a of 15 ( 2 Factoring A Sum Or Difference of Two Cubes 90931 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

1

True-False

2

The expression below is a sum of cubes.

125x3 + 216
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Global Incorrect Feedback

The correct answer is: True.

Question 2b of 15 ( 2 Factoring A Sum Or Difference of Two Cubes 297420 )

Maximum Attempts:

Question Type:

Maximum Score:

Question:
Choice| Feedback
True
B. |False

1

True-False

2

The expression below is a sum of cubes.

64x3 + 125

Global Incorrect Feedback

The correct answer is: True.

Question 2c of 15 ( 2 Factoring A Sum Or Difference of Two Cubes 297421 )

Maximum Attempts:

Question Type:

Maximum Score:

Question:
Choice| Feedback
True
B. |False

1

True-False

2

The expression below is a sum of cubes.

216x3 + 64

Global Incorrect Feedback

The correct answer is: True.

Question 3a of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 90932 )

Maximum Attempts:

Question Type:

Maximum Score:

Is Case Sensitive:

Correct Answer:

1

Text Fill In Blank

2

false

(Xx+5)(x"2-5x+425), (x~2-5x4+25)(x+5), (x+5)*(x"2-5x+25), (x"2-
5x+25)*(x+5), (X 1+5)(x"2-5x~1+25), (x2-5x~1+25)(xM1+5),

(XN L45)*(xN2-5x7M1+425), (xN2-5xM1425)*%(xN1+5), (1x+5)(1x"2-5x+25),
(1x~2-5x+25)(1x+5), (1x+5)*(1x~2-5x+25), (1x"2-5x+25)*(1x+5),
(IXNL+5)(1xN2-5xM1+25), (1xN2-5x7M1425)(1xN145), (IxN14+5)*(1xN2-
5x~N1+25), (1x~2-5x~M14+25)*(1x~N1+5)

Factor the expression given below. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you

Question:
would enter x2 as x/2.
x3 + 125

Attempt| Incorrect Feedback

1st

C:\Documents and Settings\humbertoo\My Documents\Doom\Algebra I-B sem 2\3.3.5.mht

6/26/2012



This versionl of Total HTML Converter is unregistered.

Preview

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 5)(x2 - 5x + 25).
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Question 3b of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297435 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

2

false

(X+6)(XN2-6x+36), (XN2-6x+36)(x+6), (X+6)*(x"N2-6x+36), (X2~
6X+36)*(x+6), (XN1+6)(x"2-6x~1+436), (XxN2-6x"14+36)(xN1+6),
(XN14+6)*(xN2-6XM1+436), (XN2-6XM1+36)*(xNM1+6), (1x+6)(1xN2-6x+36),
(1xN2-6x+36)(1x+6), (1x+6)*(1xN2-6x+36), (1x"N2-6x+36)*(1x+6),
(IXNM1+6)(1xN2-6xM1+36), (1xA2-6XM1436)(1xN146), (IxN1+6)*(1xN2-
6x"N1+36), (1xN2-6xM14+36)*(1xN1+6)

Factor the expression given below. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

x3 + 216

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 6)(x? - 6x + 36).

Question 3c of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297436 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

2

false

(X+4)(x"2-4x+16), (X"2-4x+16)(x+4), (Xx+4)*(x 2-4x+16), (x"2-
Ax+16)*(x+4), (X N1+4)(XN2-4x"N14+16), (XxN2-4xN1+16)(xN1+4),

(XN +4)*¥(xN2-4xN1+16), (xN2-4xM1+16)*¥(xN1+4), (1x+4)(1xN2-4x+16),
(Ix"2-4x+16)(1x+4), (1x+4)*(1xN2-4x+16), (1x"2-4x+16)*(1x+4),
(IxN144)(1xN2-4xM1416), (IxN2-4xM1+16)(1xN1+4), (IxN14+4)*(1xN2-
AXN1+16), (1xN2-4xMN1+16)*(1x"N1+4)

Factor the expression given below. Write each factor as a polynomial in

descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

x3 + 64

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 4)(x2 - 4x + 16).
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Maximum Attempts:
Question Type:
Maximum Score:
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Question 4a of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 90933 )
1
Text Fill In Blank
2
false

Is Case Sensitive:

Correct Answer:

Question:

(X+3)(xN2-3x+9), (XN2-3x+9)(x+3), (X+3)*(x"2-3x+9), (X"2-3x+9)*(x+3),
(X"14+3)(xN2-3xM149), (XN2-3XxM1+9) (XML +3), (XA1+3)*(xN2-3xM1+9), (xA2-
3XM1+9)*(xN1+3), (Ix+3)(1xN2-3x+9), (1xN2-3x+9)(1x+3), (Ix+3)*(1xN2-
3x+9), (1x~2-3x+9)*(1x+3), (1xN1+3)(1xN2-3x~M1+9), (1x/2-
3xM149)(1xM143), (IXAM14+3)*¥(1xN2-3xM149), (1xA2-3xMN1+9)*(1x~M1+3)

Factor the expression given below. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ). For example, you
would enter x2 as x"2.

x3 + 27

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 3)(x2 - 3x + 9).

Question 4b of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297437 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

2

false

(X+2)(xN2-2x+4), (x"2-2x+4)(x+2), (X+2)*(xN2-2x+4), (x"N2-2x+4)*(x+2),
(XNL42)(XN2-2X1N1+4), (XNA2-2XN1+4) (XN 142), (XA 1+2)*¥ (XN 2-2x1M1+4), (XN 2-
2XN1+4)* (XN 1+2), (Ix+2)(1xN2-2x+4), (1x1N2-2x+4)(1x+2), (Ix+2)*(1xN2-
2x+4), (IxN2-2x+4)*(1x+2), (IxN14+2)(1xN2-2xN1+4), (1xN2-
2XN1+4)(1xN1+2), (IXA14+2)*¥(IxA2-2xM1+4), (IxN2-2xN1+4)*(1x~N1+2)

Factor the expression given below. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ). For example, you
would enter x2 as x"2.

x3 +8

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 2)(x? - 2x + 4).
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Question 4c of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297449 )
1
Text Fill In Blank
2
false

Is Case Sensitive:

Correct Answer:

Question:

(X+7)(XN2-7x4+49), (X"2-7x+49)(x+7), (X+7)*(xN2-7x+49), (x"2-
7X+49)*(x+7), (XN1+7)(XN2-7x"N1+49), (XN2-7x"1+49)(xN1+7),
(XAL+7)*(XN2-7XN1+49), (XN2-7XN1+49)* (XN 1+7), (Ix+7)(1xN2-7x+49),
(IxN2-7x+49)(1x+7), (Ix+7)*(1xN2-7x+49), (1x"2-7x+49)*(1x+7),
(IxN147)(1xN2-7xN14+49), (IxN2-7xM1+49)(1xN1+7), (IXN1+7)*(1xA~2-
7X7N1+49), (1xN2-7xX"N1+49)*(1x~ N1 +7)

Factor the expression given below. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

x3 + 343

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 7)(x2 - 7x + 49).

Question 5a of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 90934 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

2

false

(y-4)(y"2+4y+16), (Y 2+4y+16)(y-4), (y-4)*(y"2+4y+16), (Y 2+4y+16)*(y-
4), (y™1-4)(yN2+4yN1+16), (Y N2+4yN1+16)(yN1-4), (YN 1-
4)*¥(yN24+4yN1+16), (yN2+4yN1+16)*(yN1-4), (1y-4)(1y~2+4y+16),
(1y"2+4y+16)(1y-4), (1y-4)*(1y"2+4y+16), (1y"2+4y+16)*(1y-4), (1y~1-
4)(1yN"24+4y~N1+16), (Lyr2+4y~1+16)(1yN1-4), (1yN1-4)*(1y~2+4y~1+16),
(1y~A2+4y~1+416)*(1y~1-4)

Factor the expression given below. Write each factor as a polynomial in

descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x~2.

y3 - 64

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (y - 4)(y2 + 4y + 16).
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Question 5b of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297451 )
1
Text Fill In Blank
2
false

Is Case Sensitive:

Correct Answer:

Question:

(y-5)(y"2+5y+25), (y"2+5y+25)(y-5), (y-5)*(y"2+5y+25), (y"2+5y+25)*(y-
5), (y~1-5)(y"2+5y~1+25), (y*2+5y"~1+25)(y~1-5), (y™1-
5)*(y~24+5y~1+425), (yA2+5y~14+25)*(y~1-5), (1y-5)(1y”~2+5y+25),
(1y"245y+25)(1y-5), (1y-5)*(1y"2+5y+25), (1y"2+5y+25)*(1y-5), (1y~1-
5)(1y~2+5y~1+25), (1y~2+5y~1+25)(1y~1-5), (1y~A1-5)*(1y~A2+5y~1+25),
(1y~245y"~14+25)*(1y~1-5)

Factor the expression given below. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

y3 - 125

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (y - 5)(y2 + 5y + 25).

Question 5c of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297452 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

2

false

(y-6)(y"2+6y+36), (y"2+6y+36)(y-6), (y-6)*(y"2+6y+36), (y"2+6y+36)*(y-
6), (y™1-6)(y"2+6y"~1+36), (yr2+6y"~1+36)(y™1-6), (y™1-
6)*(yN2+6y~1436), (yN246y"N1+36)*(y~1-6), (1y-6)(1ly~2+6y+36),
(1y"2+6y+36)(1y-6), (1y-6)*(1y"2+6y+36), (1y"2+6y+36)*(1y-6), (1y~1-
6)(1ly"2+6y~"1+36), (Lyr"2+6y~1+36)(1y~1-6), (1y"N1-6)*(1y~2+6y~1+36),
(1yn"24+6y"~1+436)*(1y~1-6)

Factor the expression given below. Write each factor as a polynomial in

descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x~2.

y3 - 216

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (y - 6)(y2 + 6y + 36).
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Maximum Attempts:
Question Type:
Maximum Score:
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Question 6a of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297455 )
1
Text Fill In Blank
2
false

Is Case Sensitive:

Correct Answer:

Question:

(y-7)(y"2+7y+49), (Y 2+7y+49)(y-7), (y-7)*(y"2+7y+49), (Y 2+7y+49)*(y-
7), (YA 1-7)(yA2+7y~1+449), (yA2+7y~1+49)(y~1-7), (Y~ 1-

7)*(yA 247y~ 1449), (Y 247y~ 1449)*(y~1-7), (1y-7)(1y~2+7y+49),
(LyN247y+49)(1y-7), (Ly-7)*(1ly"N2+7y+49), (1yN2+7y+49)*(1ly-7), (1y~1-
7)1y~ 247y~ 1449), (1y~ 247y~ 14+49)(1y~1-7), (Ly~A1-7)*(1y~2+7y~1449),
(Ly"2+7y~A1449)*(1y~1-7), (YyA2+7y+49)(y-7)

Factor the expression given below. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

y3 - 343

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (y - 7)(y? + 7y + 49).

Question 6b of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 90935 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

2

false

(y-3)(y"2+3y+9), (y*2+3y+9)(y-3), (y-3)*(y"2+3y+9), (y"2+3y+9)*(y-3),
(yNM1-3)(yN2+43y™149), (yr2+3yN149)(yN1-3), (YN 1-3)*¥(yN2+3y~1+9),
(Y"2+3y"149)*(y~1-3), (1y-3)(1y~2+3y+9), (1y*2+3y+9)(1y-3), (1y-
3)*¥(1y~2+3y+9), (1yN2+3y+9)*(1y-3), (1y™1-3)(1y~2+3y~1+9),
(1y~"2+3y™149)(1y~1-3), (1yNM1-3)*(1y~ 243y~ 1+49), (1y 243y~ 1+9)*(1y~1-
3), (y"2+3y+9)(y-3)

Factor the expression given below. Write each factor as a polynomial in

descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x~2.

y3 - 27

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (y - 3)(y2 + 3y + 9).
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Question 6¢c of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297454 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

2

false

(y-2)(y"2+2y+4), (y"2+2y+4)(y-2), (Y-2)*(y"2+2y+4), (YN2+2y+4)*(y-2),
(YyN1-2)(y"N 242y N 1+4), (yN242yN1+4) (YN 1-2), (YN 1-2)*(y"N2+2y N 1+4),
(Y"2+42yN14+4)*(y"1-2), (1y-2)(1y~2+2y+4), (1y~2+2y+4)(1y-2), (1y-
2)*(1yN242y+4), (1y"2+2y+4)*(1y-2), (1y~1-2)(1y~ 242y~ 1+4),
(1yA242y~A144)(1y~A1-2), (1y~1-2)*(1yA242y~A1+4), (1y~A 242y~ 1+4)*(1y~1-
2), (y"2+2y+4)(y-2)

Factor the expression given below. Write each factor as a polynomial in

descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

y? -8

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (y - 2)(y2 + 2y + 4)

Question 7a of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 90936 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(4x+7y)(16x1"2-28xy+49y"2), (16x7N2-28xy+49yN2)(4x+7y), (4X+7y)*(16x1N2-
28xy+49y~12), (16x12-28xy+49y"2)*(4x+7y), (4xN1+7yN1)(16x1N2-
28xN1yN1449yN2), (16xXN2-28XxN 1y~ 1449y~ 2)(4xN1+7yN 1),

(AXN14+7y N 1)*¥(16xN2-28XN1y N 1+49yN2), (16X 2-

28XN 1y~ 1449y N 2)*¥(4xN1+7yN 1), (7y+4x)(16xM2-28xy+49y N 2), (16xX12-
28xy+49yN2)(7y+4x), (7y+4x)*(16x"2-28xy+49y~N2), (16xN2-
28xy+49y N 2)*¥(7y+4x), (4x N1+7y~1)(16x1N2-28xN 1y~ 1+49yN2), (16xX12-
28XN1yN 1449y~ 2)(AXNL+7y A1), (AXAN 147y N 1)*¥ (16X 2-28XN 1y N 1+49yN2),
(16x12-28xN 1y~ 1449y A 2)*(4xN1+7yN 1), (4x+7y)(49yN2-28xy+16Xx12),
(49yN2-28xy+16x12)(4x+7y), (4x+7y)*(49yN2-28xy+16x12), (49yN2-

28Xy +16xX1"2)*(4x+7y), (4xN1+7y~1)(49yN2-28XN1yA1+16X12), (49y N 2-
28Xy N 1+16XM2)(AXN1+7yN1), (AXAN1+7y A1) *(49y N 2-28XN1yN1+16X12),
(49yN2-28XN1yN14+16XN2)*(4xN1+7yN 1), (7y+4x)(49yN2-28xy+16Xx12),
(49yN2-28xy+16x"2)(7y+4x), (7y+4x)*(49y"2-28xy+16x12), (49yN2-
28xy+16x"N2)*(7y+4x), (7y N 1+4x"1)(49y"N2-28xN 1y~ 1+16x12), (49y N 2-
28XN1yN14+16XN2)(7yN1+4xA 1), (7yN144x/N1)*(49y N 2-28xN1yN1+16x12),
(49yN2-28XN1yN1+16xXN2)*¥(7y N 1+4xN 1), (4x+7y)(16xXN2-28yx+49yN2),
(16x12-28yx+49yN2)(4x+7y), (4x+7y)*(16x"2-28yx+49yN2), (16xN2-
28yx+49y"2)*(4x+7y), (4xN1+7y~1)(16xN2-28y N 1xAN 1449y~ 2), (16xX/2-
28y N 1IXAN14+49y N 2)(AXAN1+7y A1), (AXAN 147y~ 1)*¥(16XA2-28y N 1IxAN1+49y 1 2),
(16x72-28y N 1xN14+49y N 2)*(4xN1+7y N 1), (7y+4x)(16xXN2-28yx+49yN2),
(16x1"2-28yx+49y~2)(7y+4x), (7y+4x)*(16x1N2-28yx+49y~"2), (16x12-
28yx+49y N 2)*(7y+4x), (4x N 1+7y~1)(16x1N2-28yN1xXxAN1+49yN2), (16xX12-
28y N IXAN14+49y N 2)(AxN1+7y N 1), (AXAN1+7y N 1)*(16xX72-28y N 1xAN1+49y12),
(16XN2-28y N IXN1+49y A 2)*(4xN1+7yN1), (4x+7y)(49yN2-28yx+16Xx12),
(49yN2-28yx+16Xx12)(4x+7y), (4x+7y)*(49yN2-28yx+16x12), (49yN2-
28yx+16x1"2)*(4x+7y), (4xN1+7y~1)(49yN2-28y N IxAN1+16xX72), (49y N 2-
28y N IXA14+16XN2)(AXN1+7y A1), (AXAN14+7yN1)*(49y A 2-28y N IXA1+16X12),
(49yN2-28y N IXAN1+16XN2)*(4xN1+7y N 1), (7y+4X)(49y N 2-28yx+16x12),
(49yN2-28yx+16x"2)(7y+4x), (7y+4x)*(49yN2-28yx+16x12), (49yN2-
28yxX+16x12)*(7y+4x), (7y™1+4x"1)(49y"2-28y N IxA1+16x12), (49y 1 2-
28y N IXAL1+16XN2)(7y N 1+4x71), (7yN1+4x/1)*(49y N 2-28y N IxAN1+16X12),
(49yN2-28y N IXN1+16XN2)*(7y™N1+4xM 1)

Factor the expression given below. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x/2.

64x3 + 343y3
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Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(4x + 7y)(16x2 - 28xy + 49y2).

Question 7b of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297456 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(5x+8y)(25x"2-40xy+64y~"2), (25X 2-40xy+64y~2)(5x+8y), (5x+8y)*(25x~2-
40xy+64yN2), (25x7N2-40xy+64yN2)*(5x+8y), (4x~N1+8y~1)(25xN2-
40xN1yN1+64yN2), (25x7M2-40xN1y N 1+64yN2)(4xN1+8y N 1),
(4xXN14+8yN1)*(25x12-40xN 1y~ 1+64yN2), (257 2-
40XN1yN 1464y N 2)*¥(4xN1+8y N 1), (By+4x)(25xN2-40xy+64yN2), (25x/N2-
40xy+64y~2)(8y+4x), (8y+4x)*(25x"N2-40xy+64y~2), (25x1~2-
40xy+64y~2)*(8y+4x), (4xN1+8yN1)(25xN2-40xN 1y~ 1+64yN2), (25xN2-
40xN 1y~ 1+64yN2)(AXN1+8y A1), (AxN1+8y N 1)*(25xM2-40xM1y N 1+64y12),
(25x72-40xN1y N 1464y~ 2)*(4x~N1+8y 1), (5x+8y)(64yN2-40xy+25x12),
(64y~"2-40xy+25x72)(5x+8y), (5x+8y)*(64y"2-40xy+25x12), (64y~2-
40xy+25x72)*(5x+8y), (4xN1+8y~1)(64yN2-40xN1y~N1+25xM2), (64yN2-
40XN1y A 1+25x12)(4xN1+8y 1), (AXN1+8y A 1)*(64yN2-40xN 1y~ 1+25x12),
(64y"2-40xN 1y~ 14+25x72)*(4x~M1+8y 1), (8y+4x)(64y”2-40xy+25x12),
(64yN2-40xy+25x12)(8y+4x), (8y+4x)*(64y"2-40xy+25x12), (64yN2-
40xy+25x172)*(8y+4x), (8y"1+4x"1)(64yN2-40xN 1y~ 1+25x12), (64yN2-
40xN1y N 1+4+25x72)(8y N 1+4xM1), (ByNM1+4xN1)*(64yN2-40xN1y N 1425x12),
(64yN2-40xN1yN14+25x1M2)*(8yN1+4xM 1), (5x+8y)(25xN2-40yx+64yN2),
(25x72-40yx+64y~2)(5x+8y), (5x+8y)*(25x"2-40yx+64y~2), (25x"2-
40yx+64yN2)*(5x+8y), (4xN14+8yN1)(25xN2-28yN1xN14+64yN2), (25xN2-
28y N 1xN14+64yN2)(AXN1+8y A1), (4xN14+8y N 1)*(25x N 2-28y N IXAN1+64y12),
(25x72-28y N 1IxXN1+64y 1~ 2)*(4xN1+8y 1), (By+4x)(25x7N2-40yx+64y~2),
(25x72-40yx+64y"2)(8y+4x), (8y+4x)*(25x"2-40yx+64yN2), (25xN2-
40yx+64yN2)*(8y+4x), (4xN14+8yN1)(25xN2-28yN1xN14+64yN2), (25xN2-
28y N IXN1+64yN2)(4xN1+8y 1), (AXN1+8y N 1)*(25x1N2-28y N 1XN1+64yN2),
(25x7"2-28y N 1xN 1464y~ 2)*(4xN1+8y 1), (5x+8y)(64yN2-40yx+25x12),
(64y"2-40yx+25x72)(5x+8y), (5x+8y)*(64y"2-40yx+25x12), (64y"2-
40yx+25x1N2)*(5x+8y), (4xN1+8yN1)(64yN2-28yN1xN1+25xN2), (64yN2-
28y N 1IxN14+25xM2)(AxN1+8y A1), (4xN 148y~ 1)*(64yN2-28y N IxXA1+25x12),
(64y"2-28y N 1xN1+25x72)*(4x~M1+8y 1), (B8y+4x)(64y"2-40yx+25x12),
(64yN2-40yx+25x12)(8y+4x), (8y+4x)*(64yN2-40yx+25x12), (64yN2-
40yx+25x72)*(8y+4x), (8yN1+4x1N1)(64yN2-28yN1xN1425x12), (64yN2-
28y N 1IxAN1+25x72)(8y N 1+4x1M1), (8yN1+4X/M1)*(64yN2-28yN1XN1+25xM2),
(64yN2-28y N IXAL+25xM2)*(8yNM1+4x11)

Factor the expression given below. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x/2.

125x3 + 512y3

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(5x + 8y)(25x2 - 40xy + 64y2).
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Question 7c of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297457 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(Bx+7y)(9xN2-21xy+49y " 2), (9xN2-21xy+49y2)(3x+7y), (3x+7y)*(9xN2-
21xy+49y~"2), (9xN2-21xy+49yN2)*(3x+7y), (3XN1+7y~1)(9xN2-
21xN1y~14+49yN2), (9XA2-21XN 1y A 1+49y A 2)(3xN1+7y 1),

(BXAL+7y A 1)*(9xAN2-21xN 1y~ 14+49y A 2), (9xN2-
21XN1yN1+49y A 2)*(3xAN1+7y N 1), (7y+3X)(9xN2-21xy+49y~N2), (9xN2-
21xy+49yN2)(7y+3x), (7y+3x)*(IxN2-21xy+49yN2), (9x"2-
21xy+49y"2)*(7y+3x), (3XN1+7yN1)(9xN2-21xN 1y~ 1+49y N 2), (9xAN2-
21xN1yA~ 1449y~ 2)(3XN1+7y A1), (3XAL+7y A 1)*¥(9xN2-21xN 1y~ 1+49yA2),
(OXN2-21XN1y N 1+49y A 2)*(3xANL+7y 1), (3x+7y)(49y N 2-21xy+9xN2),
(49yN2-21xy+9x"2)(3x+7y), (3x+7y)*(49yN2-21xy+9xN2), (49yN2-
21Xy+9XxA2)*(3x+7y), (3xN14+7y"N1)(49y N 2-21xN 1y~ 149xN2), (49yN2-
21IXNLyA14+9XA2)(3XAL+7y A1), (BXAL+7y A 1)*(49y N 2-21xAN 1y~ 1+9x12),
(49y N 2-21XN1yN14+9x N 2)*¥ (3xN1+7y N 1), (7y+3X)(49yN2-21xy+9xN2),
(49yN2-21xy+9x"2)(7y+3x), (7y+3X)*(49y"2-21xy+9x~"2), (49yN2-
21Xy+9xN2)*(7y+3x), (7y"N1+3x71)(49yN2-21xN 1y~ 1+9xN2), (49y N 2-
21XN1y A 149X 2)(7y N 143xM 1), (7y N 143X/ 1)*(49y N 2-21xN 1y~ 14+9x12),
(49yN2-21XN1LYyA14+9XA2)*¥(7y N 143X 1), (3X+7Y)(9xN2-21yx+49yN2), (9xN2-
21yx+49y"2)(3x+7y), (3Xx+7y)*(IxN2-21yx+49yN2), (9xN2-
21yx+49y " 2)*(3x+7y), (BXN1+7yN1)(9xN2-21y N IxAN14+49yN2), (9xN2-
21y N IxXAN1+49y N 2)(3xN1+7y N 1), (BXAL+T7y A 1)*(9xA2-21y N 1IXAN1+49y AN 2),
(OXN2-21y AN IXANL+49y A 2)*¥(3xAN1+7y N 1), (7y+3X)(9xN2-21yx+49y N 2), (9xN2-
21yx+49y~2)(7y+3x), (7y+3x)*(9xN2-21yx+49y~"2), (9xN2-
21yx+49y " 2)*¥(7y+3x), (BXN1+7yN1)(9xN2-21yN1xN14+49yN2), (9xN2-
21y~ IxXN14+49y N 2)(3XN1+7y A1), (3XAL1+7y AN 1)*¥(9xA2-21y N 1IxN1+49yA2),
(OXN2-21y N IXNL+49y A 2)*(3xNL+7y 1), (3x+7y)(49yN2-21yx+9xN2),
(49yN2-21yx+9xN2)(3x+7Y), (3x+7y)*(49yN2-21yx+9x1N2), (49y"N2-
21yx+9xN2)*(3x+7y), (3xN1+7y~1)(49yN2-21y N IxXAN14+9xA2), (49y N 2-
21y N IXAL+9XA2)(3XAL+7y A1), (BXAL+7y A 1)*(49y N 2-21y N IXAN1+9x1N2),
(49yN2-21y N IXAN14H9XN2)*¥(3xN 147y N 1), (7y+3X)(49yN2-21yx+9x12),
(49yN2-21yx+9x"2)(7y+3x), (7y+3Xx)*(49y"2-21yx+9x~"2), (49yN2-
21yxX+9XA2)*(7y+3x), (7yN14+3xM1)(49y N 2-21y M IxN1+9xN2), (49yN2-
21y N IXAI4+9XA2)(7y N 1+3xM 1), (7y N 143X/ 1)*(49y N 2-21y AN 1XAN1+9x12),
(49yN2-21yNIXNL+9XN2)*¥(7yN14+3x71)

Factor the expression given below. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x~2.

27x3 + 343y3

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(3x + 7y)(9x2 - 21xy + 49y2).
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Question 8a of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 90937 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(5x+7y)(25x7"2-35xy+49y~2), (25x72-35xy+49y~2)(5x+7y), (5x+7y)*(25x"2-
35xy+49y~2), (25x"2-35xy+49y"2)*(5x+7y), (5xN1+7y~1)(25x1N2-

35xN 1y~ 1449y~ 2), (25x7N2-35xM1y A 1+49y A~ 2)(5xM1+7yA~ 1),
(5xN14+7yN1)*(25x7N2-35xN 1y~ 1449y~ 2), (25x12-
35xN1yN1+49y A 2)*(5xN1+7y A~ 1), (7y+5x)(25xM2-35xy+49y~2), (25xN2-
35xy+49y~2)(7y+5x), (7y+5x)*(25x~2-35xy+49y~N2), (25xN2-
35xy+49y"2)*(7y+5x), (5xN1+7y~1)(25x"N2-35xN 1y~ 14+49yA2), (257 2-
35xN 1y~ 1449y~ 2)(5xA1+7y A1), (5xA1+7y~1)*(25x AN 2-35xN 1y N 1+49y 1 2),
(25x7"2-35xN 1y~ 1449y~ 2)* (5xN1+7yA~ 1), (5x+7y)(49yN2-35xy+25x12),
(49y~2-35xy+25x12)(5x+7y), (5x+7y)*(49y"2-35xy+25x12), (49y"2-
35xy+25x/"2)*(5x+7y), (5xM1+7y~1)(49yN2-35xN 1y~ 1+25x72), (49y 1 2-
35xN 1y~ 14257 2)(5xN1+7y A1), (5xN147yN1)*(49y N 2-35xN 1y N 1+25x12),
(49yN2-35xMN1yN14+25xM2)*(5xMN1+7y N 1), (7y+5x)(49yN2-35xy+25x12),
(49y~2-35xy+25x72)(7y+5x%), (7y+5x)*(49y2-35xy+25x12), (49y~2-

35Xy +25x7"2)*(7y+5x), (7y"1+5x"1)(49y~2-35xN 1y~ 1+25x72), (49y " 2-
35xN1y A 14257 2)(7y N 1+5x2 1), (7y~N145x71)*(49y A 2-35x M1y A 1+25x12),
(49y"2-35xN1yN14+25xM2)*(7y N 1+5x7 1), (5x+7y)(25x7~2-35yx+49y~2),
(25x72-35yx+49y~"2)(5x+7y), (5x+7y)*(25x~2-35yx+49y~N2), (25xN2-
35yx+49y A 2)*(5x+7y), (5xN1+7y~1)(25x7"2-35yN1IxXxAN1+49yA2), (257 2-
35y N 1xN 1449y~ 2)(5xN1+7y A1), (5xAN147yN1)*(25xN2-35y N IxN1+49yN2),
(25x72-35y M 1xAN 1449y A 2)*(5xA1+7y~ 1), (7y+5%x)(25x~2-35yx+49y 1 2),
(25x72-35yx+49y~2)(7y+5x%), (7y+5x)*(25x"2-35yx+49y~"2), (25x"2-
35yx+49y N 2)*(7y+5x), (5xN14+7y~N1)(25xN2-35y M 1xAN14+49yN2), (251 2-
35y N 1IxA14+49y N 2)(5xA1+7y A1), (5XxA1+7yN1)*(25x A 2-35y N IxAN1+49y 1 2),
(25x72-35y M 1IxN 1449y~ 2)*(5xM1+7y " 1), (5x+7y)(49y N 2-35yx+25x12),
(49yN2-35yx+25x72)(5x+7y), (5x+7y)*(49y~2-35yx+25x12), (49yN2-
35yx+25x72)*(5x+7y), (5xN1+7y~N1)(49yN2-35yNIxN1+25x72), (49y N 2-
35y N 1IxAN1425xM2)(5xN1+7y A1), (5xN 147y~ 1)*(49y N 2-35y N IxAN1+25x12),
(49yN2-35y N 1IxN14+25x M 2)*(5xM1+7y A1), (7y+5%x)(49y~2-35yx+25x12),
(49y~2-35yx+25x72)(7y+5x%), (7y+5x)*(49y"2-35yx+25x12), (49y"2-
35yx+25x"2)*¥(7y+5x), (7y™1+5x71)(49yN2-35y M 1xN1+25x12), (49yN2-
35y N IxA14+25xN2)(7y N 1+5xA 1), (7y~N145x7M1)*(49y A 2-35y N IxA1+25x12),
(49yN2-35yNM1IXANL+25xM2)*(7y~1+5xM1)

Factor the expression given below. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x~2.

125x3 + 343y3

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(5x + 7y)(25x2 - 35xy + 49y2).
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Question 8b of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297459 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(5x+6Y)(25x7"2-30xy+36y~2), (25x72-30xy+36y~2)(5x+6Yy), (5x+6Yy)*(25x/"2-
30xy+36y~2), (25x72-30xy+36y"2)*(5x+6y), (5xN1+6y~1)(25x1N2-
30xN1y~1436y12), (25x72-30xM 1y~ 1436y~ 2)(5xM1+6y~1),
(5XN14+6yA1)*(25xM2-30xN1y N 1+36y~2), (25x7M2-
30xN1yN14+36yN2)*¥(5xN1+6y~ 1), (6y+5x)(25x72-30xy+36y~2), (25xN2-
30xy+36y~2)(6y+5x), (6y+5x)*(25x"2-30xy+36y~N2), (25xN2-
30xy+36y"2)*(6y+5x), (5xN1+6yN1)(25xN2-30xMN 1y~ 1+36yN2), (25xN2-
30xMN1y~1436y72)(5xM1+6y~1), (5xA1+6yN1)*(25xA2-30xN 1y A 1+36y12),
(25x72-30xN 1y N 1436y~ 2)*(5xNM1+6y~ 1), (5x+6Y)(36yN2-30xy+25x12),
(36yN2-30xy+25x12)(5x+6Y), (5x+6y)*(36y"2-30xy+25x12), (36yN2-
30xy+25x"2)*(5x+6Yy), (5xM1+6y~1)(36y"2-30xN1y~1+25x12), (36y12-
30xN1yA14+25x72)(5xM1+6y7 1), (5xM1+6y7~1)*(36yN2-30xN 1y~ 1+25x12),
(36y"2-30xN1yN14+25x1M2)*(5x~M1+6y~1), (6y+5x%)(36yN2-30xy+25x12),
(36y~2-30xy+25x72)(6y+5x%), (6y+5x)*(36y"2-30xy+25x12), (36y~2-
30Xy+25x1"2)*(6y+5x), (6y™1+5x"1)(36y~2-30xN1y~N1+25x72), (36y12-
30xMN1yA1425x72)(6yN1+5xA1), (6yN1+45x/M1)*(36y~2-30xXN1yA1+25x12),
(36y"2-30xN 1y~ 14+25x12)*(6y~1+5x71), (5x+6Yy)(25x72-30yx+36y12),
(25x72-30yx+36y"2)(5x+6Y), (5x+6Yy)*(25x~2-30yx+36y~N2), (25xN2-
30yx+36y~2)*(5x+6Yy), (5xM1+6y~1)(25x72-30yN1xA1+36y12), (25x72-
30yNM1xAN1+36y12)(5xM1+6yn1), (5xM1+6y/~1)*(25x72-30y N 1xAN1+36y12),
(25x72-30y N 1xAN 1436y N 2)*(5xM1+6y~ 1), (6y+5%)(25x72-30yx+36y12),
(25x72-30yx+36y~2)(6y+5x%), (6y+5x)*(25x"2-30yx+36y~"2), (25x"2-
30yx+36y"2)*(6y+5x), (5xN1+6y~1)(25x72-30yN1xAN1+36y/12), (25x12-
30yN1xA14+36y12)(5xM1+6y~1), (5xA1+6yN1)*(25xAM2-30y N IxA1+36y12),
(25x72-30y M 1xAN 1436y 2)*(5xM1+6y~1), (5x+6y)(36y”2-30yx+25x12),
(36y"2-30yx+25x72)(5x+6Y), (5x+6Y)*(36y"2-30yx+25x12), (36yN2-
30yx+25x72)*(5x+6y), (5xMN1+6y~1)(36y"2-30yN1xN1+25x12), (36yN2-
30yNM1xAN14+25xM2)(5xM1+6y~ 1), (5XA1+6y~1)*(36yN2-30yN1XA1+25xM2),
(36y72-30y N 1xN14+25xM2)*(5x~M1+6y~ 1), (6y+5%)(36y~2-30yx+25x12),
(36y~2-30yx+25x72)(6y+5x), (6y+5x)*(36y"2-30yx+25x12), (36y~2-
30yx+25x~2)*(6y+5x), (6y™1+5x71)(36y"N2-30yN1x~N1+25x72), (36y/°2-
30yN1xA14+25xM2)(6yN1+5xA 1), (6yN1+45x/M1)*(36y~2-30y N 1IxXA1+25x12),
(36y"2-30y N IXAN1+25xN2)*(6y~N1+5x11)

Factor the expression given below. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x~2.

125x3 + 216y3

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(5x + 6y)(25x2 - 30xy + 36y2).
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Question 8c of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297460 )

Maximum Attempts:

Question Type:

Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(7x+6Y)(49x1"2-42Xxy+36y~"2), (49xN2-42xy+36yN2)(7x+6Y), (7X+6Yy)*(49x"2-
42xy+36yN2), (49xN2-42xy+36yN2)*(7x+6Yy), (7x~1+6y~1)(49xN2-
42XN1yN1+36y12), (49X N2-42X N1y N 1+36y A 2)(7xN1+6y1 1),
(7XN14+6yN1)*(49xN2-42xN 1y~ 1436y12), (49xN2-

42XN 1y NM14+36y N 2) ¥ (7xN1+6yn 1), (6y+7X)(49xN2-42xy+36yN2), (49xN2-
42xy+36yN2)(6y+7x%), (6y+7x)*(49xN2-42xy+36y~"2), (49xN2-
42xy+36yN2)*(6y+7x), (7XN1+6yN1)(49xN2-42xN1yN1+36yN2), (49xN2-
42XN1Yy AN 1+36y N 2)(7XN1+6y A1), (7XN1+6yA1)*¥ (49X N 2-42X N1y N 1+36y12),
(49xN2-42XN 1y N 1436y N 2) ¥ (7xN1+6y~ 1), (7x+6Y)(36yN2-42Xy+49XxN2),
(36y"2-42xy+49xN2)(7x+6Y), (7x+6y)*(36yN2-42xy+49x12), (36y"2-

42Xy +49XN2)*(7x+6Y), (7X"1+6y~1)(36yN2-42xN1y~1+49x12), (36yN2-
42XN 1Yy N 1+49XA2)(7XN1+6yA 1), (7xXN1+6yN1)*(36yN2-42XN1y N 14+49x12),
(36yN2-42XN1yN1+49xNA2)* (7xN1+6yN 1), (6y+7X)(36yN2-42Xy+49XxN2),
(36y"2-42xy+49xN2)(6y+7X%), (6y+7x)*(36y"2-42Xy+49x12), (36yN2-

42Xy +49xN2)*(6y+7x), (6yN1+7x"1)(36yN2-42xN1yN1+49xN2), (36yN2-
42XN1Yy N 1+49x N 2)(6Y N 1+7XM 1), (BYN1+7XA1)*¥(36yN2-42XN1y N 1+49XxN2),
(36yN2-42xXN 1y~ 1+49xN2)*(6y N 1+7x1 1), (7X+6Y)(49xN2-42yx+36y12),
(49xN2-42yx+36yN2)(7x+6Y), (7X+6Y)*(49xN2-42yx+36yN2), (49X 2-
42yx+36yN2)*(7x+6y), (7XN1+6y~1)(49xN2-42y N 1xN1+36y12), (49xN2-
42y NIXANL4+36Yy N 2)(7XN1+6yN 1), (7XN1+6yN1)* (49X N 2-42y M IXAN1+36y12),
(49xN2-42y N IXAN 1436y N 2) ¥ (7xN1+6y~ 1), (6y+7X)(49xN2-42yx+36y12),
(49xN2-42yx+36y"2)(6y+7X%), (6y+7x)*(49x"N2-42yx+36y~"2), (49xN2-
42yx+36yN2)*(6y+7x%), (7XN14+6yN1)(49xN2-42y N 1xN 1436y 2), (49xN2-
42y NIXANL+36Yy N 2)(7XN1+6y A1), (7XN1+6yA1)*¥(49XN2-42y N 1IXAN1+36y12),
(49N 2-42y N IXAN1+36y N 2)*(7xN1+6y 1 1), (7x+6Yy)(36yN2-42yx+49x12),
(36yN2-42yx+49x1N2)(7x+6Y), (7X+6Yy)*(36y"2-42yx+49xN2), (36yN2-
42yx+49xN2)*(7x+6Y), (7XN1+6yN1)(36yN2-42yN1xN14+49xN2), (36yN2-
42y NIXNL+49XAN2)(7XN1+6yA 1), (7XN1+6yN1)*(36yN2-42y N 1IXAN1+49xN2),
(36y12-42y N IXAN1+49XN2) ¥ (7xN1+6y~ 1), (6Yy+7X)(36yN2-42yx+49XN2),
(36yN2-42yx+49x"2)(6y+7X%), (6y+7x)*(36y"N2-42yx+49x12), (36yN2-
42yx+49xN2)*(6y+7x%), (6yN1+7xN1)(36yN2-42yN1xN14+49xN2), (36yN2-
42y NIXANL+49x AN 2)(6Y N 1+7XM1), (BYN1+7XAL)*(36yN2-42y N 1XAN1+49XN2),
(36y"2-42yN1IXN1+49xN2)*(6y N 1+7x1M1)

Factor the expression given below. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x~2.

343x3 + 216y3

Attempt

Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

(7x + 6y)(49x2

The correct answer is:
- 42xy + 36y2).

Question 9a of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 120917 )

Maximum Attempts:

Question Type:

Maximum Score:

1
Multiple Choice
2

Question: Which of the following is the correct factorization of the polynomial below?
x3 - 15
Choice Feedback
A. | (x+3)(x-5)
B. |(x-3)(x+D5)
C. |(x+3)x2-4x+5)
*D. The poI_ynomiaI is
irreducible.
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Global Incorrect Feedback

The correct answer is: The polynomial is
irreducible.

Question 9b of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297462 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which of the following is the correct factorization of the polynomial below?
x3 - 18
Choice Feedback

(x+ 3)(x-6)
(x-3)(x+6)
(x + 3)(x2 - 4x + 6)

The polynomial is
irreducible.

BT

T

Global Incorrect Feedback

The correct answer is: The polynomial is
irreducible.

Question 9c of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297463 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which of the following is the correct factorization of the polynomial below?
x3-12
Choice Feedback

x+3)(x-4)
x-3)(x+4)
(x +3)(x2 - 4x + 4)

The polynomial is
irreducible.

g

T

Global Incorrect Feedback

The correct answer is: The polynomial is
irreducible.

Question 10a of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 120918 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which of the following is the correct factorization of the polynomial below?

2x2 - 12x + 18

Choice Feedback
*A.|2(x - 3)2

B. |2(x + 6)(x + 3)
C. |(2x+6)(x + 3)

The polynomial is
irreducible.
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Global Incorrect Feedback

The correct answer is: 2(x - 3)2.

Question 10b of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297465 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which of the following is the correct factorization of the polynomial below?
2x%2 -8x + 8
Choice Feedback

A. |2(x+ 2)(x + 4)
B. |(2x +4)(x + 4)

2(x - 2)2

The polynomial is
irreducible.

Global Incorrect Feedback

The correct answer is: 2(x - 2)2.

Question 10c of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297466 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which of the following is the correct factorization of the polynomial below?

2x2 - 16x + 32

Choice Feedback
A. |(2x+4)(x + 2)
B. |2(x + 2)(x + 8)

2(x - 4)2

The polynomial is
irreducible.

Global Incorrect Feedback

The correct answer is: 2(x - 4)2.

Question 11a of 15 (3 ractoring A Sum Or Difference of Two Cubes 120903 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which of the following is the correct factorization of the polynomial below?
8x3 + 27y3
Choice Feedback

A. | (4x + 3y)(2x +9y)
(2x + 3y)(4x? - 6xy

*B.

+ 9y?)
c. |@éx+ 3y)(2x2 - 2xy
")
D The polynomial is
" |lirreducible.
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The correct answer is:

(2x + 3y)(4x2 - 6xy + 9y2).

Page 16 of 21

Question 11b of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297467 )

Maximum Attempts:
Question Type:
Maximum Score:

1

Multiple Choice

2

Which of the following is the correct factorization of the polynomial below?

Question:
8x3 + 64y3
Choice Feedback
A. | (4x + 4y)(2x +8y)

(2x + 4y)(4x2 - 8xy
+ 16y2)

(4x + 2y)(4x2 - 2xy
+ 16y2)

The polynomial is
irreducible.

Global Incorrect Feedback

The correct answer is:
(2x + 4y)(4x2 - 8xy + 16y2).

Question 11c of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297468 )

Maximum Attempts:

Question Type:
Maximum Score:

1

Multiple Choice

2

Which of the following is the correct factorization of the polynomial below?

Question:
27x3 + 64y3
Choice Feedback
A. | (4x + 3y)(2x +8y)

(4x + 3y)(9x? -
12xy + 16y2)

*C.

(3x + 4y)(9x? -
12xy + 16y2)

The polynomial is
irreducible.

Global Incorrect Feedback

The correct answer is:
(3x + 4y)(9x2 - 12xy + 16y2).

Question 12a of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 120905 )

Maximum Attempts:
Question Type:
Maximum Score:

Question:

C:\Documents and Settings\humbertoo\My Documents\Doom\Algebra I-B sem 2\3.3.5.mht

1

Multiple Choice

2

Which of the following is the correct factorization of the polynomial below?

p3 - 125¢3
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Choice

Feedback

(p - 5g)(p? + 5pq +
25q2)

(p - 25q)(p? + 25pq
+ 25g2)

(p? + 10g)(p> +
25pq + 5G2)

The polynomial is
irreducible.

Global Incorrect Feedback

The correct answer is: (p - 5q)(p? + 5pg + 25G2).

Page 17 of 21

Question 12b of 15 (3 ractoring A Sum Or Difference of Two Cubes 297469 )

Maximum Attempts:
Question Type:
Maximum Score:

1

Multiple Choice

2

Which of the following is the correct factorization of the polynomial below?

Question:
p3 - 21643
Choice Feedback
A | (p-369)(p* + 36pg
" |+ 6g2)
g, |(P* +129)(p° +
" |36pg + 5¢°)
(p - 6G)(p* + 6pq +
36G2)
D The polynomial is
* |irreducible.

Global Incorrect Feedback

The correct answer is: (p - 6G)(p%2 + 6pg + 36g2).

Question 12c of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297470 )

Maximum Attempts:

Question Type:

Maximum Score:

1

Multiple Choice

2

Which of the following is the correct factorization of the polynomial below?

Question:
p3 - 343¢3
Choice Feedback
A |(P-499)(p* + 7pg
© |+ 4942)
xg. | (P - 79)(P* + 7pq +
"|494%)
(p? +7q)(p3 +
C.
49pq + 7G?)
D The polynomial is
* |irreducible.

Global Incorrect Feedback

The correct answer is: (p - 7q)(p%2 + 7pg + 49g2).
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Question 13a of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 120908 )
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which of the following is the correct factorization of the polynomial below?

2p2 - 10pg + 25q2

Choice Feedback
(2p - 5g)(p - 59)
(2p - 5q9)(p + 5q)
(2p - 59)(2p* + 2q)

The polynomial is
irreducible.

G

T

Global Incorrect Feedback

The correct answer is: The polynomial is
irreducible.

Question 13b of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297471 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which of the following is the correct factorization of the polynomial below?

3p? - 15pg + 20g?

Choice Feedback
(3p - 5g)(p - 10q)
(3p - 5q)(p + 59)
(3p - 5q)(2p? + 5q)

The polynomial is
irreducible.

g

T

Global Incorrect Feedback

The correct answer is: The polynomial is
irreducible.

Question 13c of 15 ( 3 ractoring A Sum Or Difference of Two Cubes 297472 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which of the following is the correct factorization of the polynomial below?

2p? - 8pg + 24q?

Choice Feedback
A. |(2p - 4q)(p - 4q)
(2p - 49)(p + 4q)
C. |(2p - 4q)(2p? + 2q)

The polynomial is
irreducible.

*D.

Global Incorrect Feedback

The correct answer is: The polynomial is
irreducible.
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Question 14a of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 120911 )

Maximum Attempts:
Question Type:
Maximum Score:

Question:

1

Multiple Choice

2

Which of the following is the correct factorization of the polynomial below?

27x3 + 64

Choice

Feedback

(3x + 4)(9x2 - 12x
+ 16)

(9x + 8)(3x2 - 16x
+ 8)

(3x2 + 8)(9x - 16x
+ 8)

The polynomial is
irreducible.

Global Incorrect Feedback

The correct answer is: (3x + 4)(9x2 - 12x + 16).

Question 14b of 15 ( 3 ractoring A Sum Or Difference of Two Cubes 297474 )

Maximum Attempts:
Question Type:
Maximum Score:

1

Multiple Choice

2

Which of the following is the correct factorization of the polynomial below?

Question:
64x3 + 27
Choice Feedback
A |(6x+ 8)(3x2 - 12x
" 1+9)
(4x + 3)(16x2 - 12x
+ 9)
c (3x2 + 4)(3x - 16x
"]+ 16)
D The polynomial is
" lirreducible.

Global Incorrect Feedback

The correct answer is: (4x + 3)(16x2 - 12x + 9).

Question 14c of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297475 )

Maximum Attempts:
Question Type:
Maximum Score:

1

Multiple Choice

2

Question: Which of the following is the correct factorization of the polynomial below?
64x3 + 125
Choice Feedback
A |G+ 5)(16x2 - 12x
" 1+5
xp, | (4% + 5)(16x2 - 20x
|+ 25)
c (16x2 + 5)(5x - 16x
"]+ 125)
D The polynomial is
* lirreducible.
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Global Incorrect Feedback

The correct answer is:
(4x + 5)(16x2 - 20x + 25).

Question 15a of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 120912 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

1

Multiple Choice

2

Which of the following is the correct factorization of the polynomial below?

x3 + 12x2 + 36x

Choice

Feedback

A. |x(x+ 6)(x-6)

x(x + 6)2

(x2 + 6x - 3)(x
- 12)

(x2 + 6x - 3)(x

6)

Global Incorrect Feedback

The correct answer is: x(x + 6)2.

Question 15b of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297476 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

1

Multiple Choice

2

Which of the following is the correct factorization of the polynomial below?

x3 + 10x2 + 25x

Choice

Feedback

A. |x(x+5)(x-5)

(x2 + 2x - 5)(x

B. 10
(x2 + 5x - 2)(x
¢ (%o

*D. | x(x + 5)2

Global Incorrect Feedback

The correct answer is: x(x + 5)2.

Question 15c of 15 ( 3 Factoring A Sum Or Difference of Two Cubes 297478 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

1

Multiple Choice

2

Which of the following is the correct factorization of the polynomial below?

x3 + 14x2 + 49x

Choice

Feedback

A. | x(x+7)x-7)

(X2 + 7x - 2)(x
-7)

(x2 + 7x - 2)(x

*D. | x(x + 7)2
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Global Incorrect Feedback

The correct answer is: x(x + 7)2.
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